
A G
arden and a Playground

Problem
 Card 1

A gardener has a rectangular garden. She found its
area in

square m
eters.

W
hat is the perim

eter of the garden?
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D
ata Card 1

●
The area of the garden is 48 square m

eters.

●
The longer side is 2 m

eters longer than the shorter
side.

●
O

ne side of the garden is 8 m
eters.
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Problem
 Card 2

A school has a rectangular playground. A teacher found
its

perim
eter and area.

W
hat is the area of the playground?

A G
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D
ata Card 2

●
The perim

eter of the playground is 38 m
eters.

●
The longer side is an even num

ber of m
eters.

●
The shorter side of the playground is 7 m

eters.
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